insertions

10w an AVL Tree as each of the following keys are added (in the orde
ignore their corresponding values.

{1,2;3,4,5,6, 1
Show the tree at each step. Observe how rotations occur at different levels of the tréé :
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Produce the BFS traversal ordering as well as pre-order, in-order and post-or:
~ of the tree




B int £2(int n){
e <"10) Yeturn n;
else if(n < 1000) return f2(n-2);
else return 12(n/2);
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3. int £3(n){
f(n,n);
}
BBGrf(Gnt n,int m){
int sum = O;
if (n<=2) {
fonGmited = 9; 1.< m; i
sum++;
b

return sum;

i
else return f(n/2, m)+f(n/2, m);
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Sin= 1+ Z10n/2)
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2. T(n) =15+ T(n —1)
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3. T(n) =0(1) + 2+ T(n— 1)\
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4. T(n) = 12n + logn + 2 + T(n/2)
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Why might it be a bad decision to half the size of the array when it is % full? Consider
lternating push() and pop() sequences.
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